U
rlo o

?

@ ZAE CDol i-85t= A g+ HI o]t}
® W ACDO| tf-35h= H2 | FHI o]t
@ A Dof -3t 2 H 1ot

® W ABE| H-gol= W2 H FGH ©|tt.

M)

J% o] F AHZHEo] A - BCDECOF - GHIJ & o, 2] 92

© 2EAE ACe] th-g5t= EA == FH o]t}



ol

—_

0
B

ol
o
~,

ﬂo
Xjo
B

op

il

Gl

b

gl






4. v 18l AD 7F A O €749 o] FRAY w, x O] gh2?

@ 6 @ 7 ® 8 @ 9 ® 10



O 3,5, 7 ®© 4, 5, 6

@ 3,4, 5




F7}e ABC 9] A A oA
o H

BECEER
1

°f

ojn

ot

oW

A

d

g 4

G
™

@ 1.6 ® 2 @ 24 ® 2.8

D 12



7. TR 19 nABCD £ AH2Hgo| 7 AC £ BF © 440l 52 410]
th. AB = 12cm, BC = 16cm, AO = 10cm @ ], EF 9] ZAo|=?

A _ F D
/I \10cm
/ \
1 \
12cm
! @)
\\ E

@ 12cm @ 13cm ® l4cm @ 15cm ® 16cm



th& 1”3 Zo] AD // EF // BC ¢ o, EF 9

dol=?

@ 5.2cm

@ 5.5cm

@ 5.3cm

® 5.6cm

® 5.4cm

A
\
\
\
12cm
II
FHs—E
P [N
\
§cm
C 6cm B



g 9T Zol A =9 3 G
ABC oA Al ¥ AB, BC, CA = ZtZF gt ¥
=)

C
© & She FAZFES 23 T F aACF
™

S
o
o
X,
N
N
>
2
N
N
2L

ol Yol7l 2e AL mE @ s !
J C
i
D K E
@ AABC © ABCF © AACK
1
S §DCEKJ ©® AACE B® ABCI

@ 17 @ 270 @ 370 @ 47) ® 57




= AEDG

O AABC

DH=GE=CF

DH

@ AC

® FG

=b-a

@ oABED = oCFGH + AAHD +

AABC + AEFB + AGDE

‘_u_mo
N

A

JZnO
i

® oCFGH



11.

15em Aol = F % A,B of o]
36cm 9 & AojA o3 IH} &
o], .C 7} A Z}o] &7 st gt ®
AC & 2 cm =2 stofof 5t=717 (T,
AC<BC)

@ 9cm @ 10cm @ 1llcm

@ 12cm @ 13cm



@
P_
=2Q
-R

@
P_
QR

®
Q%+
R2_
= P2



13.

> o
e to do

T

EO[(

1l
]
=t

118

O —

13

=3
1=

i} e

7}

Foh?

z}

1

2JA}7P

&

Z}
B

19

T

% ABCD of|A4 A
of ol2= A=<

120 121
7 O

122
®



14. ©+& 19" A CALAB ,
DB1AB ©]Z, A P = AB ¢
&4 W CP+PD o
A& ot HHoE g2 A
29
@ D

C&L;
P
®
D
P
DI
®




15. o5 139 0ABCD 9 onA'B'C'D’ &) F @3 A ellA AB 9] 2
°lF a & YEHH?




16. ts I 2 A4 ABC o WA
o o] waHlE?

D 1:3 @ 2:3 ® 2:5
@ 5:9 ® 5:11




17. & 2™14 A D, E, F= 242 BC, CA, AB9| F3°|t}. sADF
©] yo]7} 5cm? & o, oBDFC 2] Yol+&=?

A

=
Q

@ 120m2 @ 13(:m2 @ 14Cm2

@ 15cm? ® 16cm?



18. o3 A A G &G 2 242 AABC ¢ AGBC o] FAISAHY
o, AG : [Tl G¢'DE=?

A

@ 2:1:1 @ 3:2:1 @ 4:2:1

@ 5:2:1 ®6:2:1



19.

@ 21m

5 A% A, BAL] 9] A2 o]

2 7] Fe gl
g Aok, olul & 2|7 A,BAL] 9] Aeli?
A
D,15m\ V_l
--"B

7m<l"/E TTe--_75m---~

C

@ 28m

® 35m @ 42m ® 4m



210l A Qs MAIFe] O-A v 1

= 1m o] Bf & A H

$H IPAEe] Aol 1.2m 0]

.BD =3m, CD =2m¢¥ u, AAF2]
5]

S > ol ok
N
o
b
>

@ 3.5m @ 3.7Tm ® 4m @ 45m ® 5m



21. thg 1Y 2ol A
919] Helx, &

pal
=
GG = 10cm ¥ ™, BC 9] Ho]&=?

@ 20cm @ 22cm ® 25cm @ 27cm ® 30cm



22. thg 2YelA 4 G, & 2 247 aABC, aGBC 9 £AFAolch
AGG'C 9] Heol7} 6em? & W, aABC ©] Wol& Fstolet.

A

@ 46cm? @ 48cm? ® 50cm?

@ 52cm? ® b54cm?



23.

T 7179] AABC ©f|A AD, BE += AABC A
o] F4o|1 3 G += AD £ BE ©] wo|tt.

AGAB 9] Hol7} 44 cm? & w), AGDE 9]

o] & otH?

® 8cm? @ 9cm? @ 10cm?

@ 11cm? ® 12cm?



24. OHT go] HE B Tl =S ¢
2 Aol 22 971 AFsiA 2% 2 A

3
5
°

D 9235 4 A @ 95 4A5E
B LT 4A10E @ QT 4A15E

® 2F 4 A 208



25.

A 5e] 2
oz gg

o

o]o] "7} 3 19l W moFo] 1

HA A 128 7S o d 9@ W8 mdofof 51=719

A, B7FH B 1



